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A () FUHYHIAGE S, WA G FET v F I A
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) ¥AF 57 & FY 7T B FHEAR T G 5 S |
Solve all parts of a question consecutively together.
(iii) A% 797 H1 73 98 § IR F153 |
| Start each question on fresh page.
(iv) &1 STt 7 3= 817 1 e 7 A srqare @ A= 8

Only English version is valid in case of difference in both the languages.

1. v géu o gugnge
Explain following in brief :
() T I D Y RATEEEAE 7
What do you understand by Small Scale Industry ?
(i) S WicETed 3 arfremy
Wage incentive and bonus.
(iii) Tt yEgm
Finance Management
(iv) ol sraga g
Spare part catalogue
(v) T
Follow up (2x5)
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At ya-uA 6t forsiwand, 3eve 9 oy foifae |
Write characteristics, objectives and advantages of Scientific Management. (12)
(i) AR HTA S TEEI0T Sl TUATST |

Explain the inspection of finished goods.
(i) W GHY TR ? TS GHY <l TUHT b THTET |

What is standard time ? Explain the calculation of standard time. (6+6)
() UREEA STEA % AT -T T A D THAE |

Explain the permit and insurance of the transport vehicle.
(i) | yEEA % 3g9d 3R SRl i fafaw |

Write objectives and functions of Material management. 4+8)

oo g1 1 ufeaiia i o qea g/ o e w1 fafe i ) g8 § s
<HIT |

Define depreciation and explain in brief various methods of calculating depreciation. (12)

() U 31 et i STavah foRINaTati S ausse |
Explain the essential characteristics of a good entrepreneur.
(i) 3TTE.u".37.-9000 FHT HEut o & forfaw |
Write the benefits of the ISO-9000 certified company. (6+6)
() o g Toreor @ amma oo wwerd € ¢ o TR R o St fafa
What do you understand by inventory control ? Write down objectives of the
inventory control.
(i) USH T AT Gd ! GHHATST |
Explain the road and traffic surveys. (8+4)
e o wftre feoafert forfaw
Write short notes on the following :
() GE= Affe=ma |
Plant layout.
(i) Hidam T
CPM and PERT
(iii) s fergeryor

ABC analysis (4x3)



